Advanced Math E ~ #1

Which expression is equivalent to (m4q4z_1) (mq5z3), where m, g, and z are positive?
A miq2023
B. m‘r’qu2
C. mbq8271

D. m20q122_2



6r="Ts+t
The given equation relates the variables 7, s, and t. Which equation correctly expresses s in terms of r and £?

As=42r—t
B.s = 7(6r —¢t)
C.s:%r—t

__ b6r—t
D.s= 7



ID: b39d74a0

X y
0 0
1 1
2 8
3 27

Advanced Math E ~ #3

The table shown includes some values of x and their corresponding values of .
Which of the following graphs in the xy-plane could represent the relationship

between x and y ?

A.

——

-4

—

B

-4




Advanced Math E ~ #4

Which of the following is a solution to the
. 2 —
equation 2X°—4=Xx°7

A1
B.2
C.3

D.4



Which expression is equivalent to

(2x%—4)—(-3x%2+2x-7) >
A 5x%—2x+3
B.5x°+2x—3
c. —x?=2x—11

D —xZ+2x—11



2

X —Bx+3
flx)=——
If ¥x—1

what is £(—1) 2
A. -5

B.-2

C.2

D.5



Advanced Math E ~ #7
X+y=

y=x*

If (X ,y) is a solution to the system of equations above, which of the

following is a possible value of x?

A0
B. 1
C.2

D.3



Advanced Math E ~ #8
f

(x)=x°+4

The function fis defined as shown. Which of the following graphs in the xy-
plane could be the graph of ¥ =f(x)?
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Advanced Math E ~ 9

z+7=10
+7)°=y
Which ordered pair (,y) is a solution to the given system of equations?
A. (3,100)
B. (3,3)
C. (3,10)

D. (3, 70)



Advanced Math E - #10

The function f is defined by f(z) = 84/z. For what value of & does f(z) = 48?
A 6

B.8
C. 36

D. 64



